LIVE P.T.0. PUMP DRIVE SPECIFICATION MGX—6620A MARINE GEAR SPECIFICATIONS
SEE NOTE "B” TOTAL MASS APPROX. 7.5 kg GEAR RATIO 1.55 1.72 2.09 2.28 2.42 2.73
WORKING TORQUE = 600 x L/40 (N ]
SEE NOTE "C” PRIMARY SHAFT SECONDARY SHAFT L = Length ofxpuép s(pnfé) g%% mﬁs((DDRR%) APPROEPP?OBX kg 294 ke
DISTANCE REQUIRED TO CLUTCH SOLENOID CLUTCH SOLENOID P.T.0. CAPACITY |_P.T.0. OPERATING SPEED 600 ~ 2500 min’ MASS INPUT HOUSING Y
19~ W, 9 « 1o\ q
SOLENOID"B"PAD14/PAD15 WIRE SOLENOID"A"PAD10/PAD11 WIRE P.T.0. SHAFT ROTATION SAME AS ENGINE ROTATION
REMOVE GEAR PUMP o INPUT COUPLING AND FLANGE 66 kg
\ P.T.0. ACCEPTS S.A.E. J744 SIZE "C” PUMP LIVE PTO 18ka
© ° WIRING OF SOLENOID INPUTS : 25_ 763.4 (126 DP 12/24
O e Eo © @ THE OPTICALLY ISOLATED INPUTS SEQUENCE VALVE 669.5 / / NO. OF TEETH 14 OIL QUANTITY APPROX. 22 L —
REQUIRE A VOLTAGE POTENTIAL CLUTCH OIL 2.2~2.4 MP
. DIFFERENCE OF 10 VDC MINIMUM, | [ 374 SPLINE DATA N%ﬁ'g SA sL Z'IIEEECIRCLE DA, §§’633 OlL PRESSURE LUBE OIL o206 MPa | BICNEGEEER soc
(o] ° N o o
Q o T SUPPLY SOURCE MUST BE CAPABLE L PR sSunt AR AREA SENSOR OF INPUT SPEED 191 S P2 OIL VISCOSITY SAE #40 _ (MULTI—GRADE OIL IS NOT APPROVED)
Yy OF DELIVERING AT LEAST 10 mA. : e OIL & GREASE THE FIRST OIL CHANGE AT 100 HOURS OF
OF CLUTCH P|§TON) q ROOT DIA., 31.785-0.034 CHANGE INTERVAL OPERATION AND SUBSEQUENTLY EVERY 1000
] Mi4x1.5 PLUG(ISO—6149 THD) ARC TOOTH SPACE 3.32518:883 HOURS OF QPERATION
SEE NOTE "A" SEE NOTE "A” \\ SHIFTING LEVER EFFORT | -
) RUBBER HOSE / / STRAINER WIRE NETTING
NOTES : SHIFTING SHIFT TO FORWARD OR REVERSE FROM NEUTRAL
ﬁ. @vli%m?ﬁglggAhocToggﬁglég{xbxlE_ \%ngﬁ_nggecmr CEAR PUMP - / RESTRICTION AND SHIFT ACROSS NEUTRAL SHALL BE MADE AT
. I~
TO BATTERY /POWER SUPPLY VOLTAGE. ,-j\\ — OlL INLET AND BREATHER ENGINE SPEED LOWER THAN 50% OF THE RATED SPEED _
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC X HEAT EXCHANGER WATER FLOW (RAW WATER) 80~85 L /min.
— CONTROL SYSTEMS OR MODULES. OUTLET TO CLUTCH \:\\’ + + TEMPERATURE OF COOLING WATER 32°C____MAX.
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN M14x1.5 PLUG(ISO—6149 TH'D) — B o GEAR PUMP TOOTH WIDTH 44 mm
CENTERED POSITION, PUSH TO ENGAGE SECONDARY N 0| NAME PLATE 210 (e
SHAFT CLUTCH — — B G—NQWHITE) e .
(£ a 2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN SEQUENCE VALVE L 6~30 VDC, MAX.CURRENT 100 mA ; 2—POLE
CENTERED POSITION, PULL TO ENGAGE PRIMARY — : : H — C 4&(@)_/&_ PRESSURE SWITCH POINT=0.28 *°%iPq
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH (HEAT EXCHANGER INLET OIL TEMP ) WIRING
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL : ] WIRING
POSITION AND OPEN WHEN LEVER IS ACTUATED FROM ﬂi
5. CURRENT = 20 AMPS MAX. —— — o OUTLET TO LUBE OlL PRESSURE 1/2=13UNC TAP 26 DEEP 404 o O e
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE !T ql @ M14x1.5 PLUG(ISO—6149 TH'D) 4 BOLTS 90.57 "' 90.57 , 39 o'
DRAWING. +0.] +0.1
CONTROL VALVE (GENERAL PURPOSE VALVE) ]_______ = WARNING PLATE(HOOK) 5/8-11UNC TAP 32 g%ﬁs 57.25[57.25 I_
HEAT EXCHANGER \ & )
INPUT SHAFT DIRECTION OUTLET TO FORWARD CLUTCH OUTLET TO FORWARD CLUTCH WARNING PLATE(SUPPORT) o / \3/’ 9 o1 4Q
OF ROTATION OIL PRESSURE(LARGE AREA OIL PRESSURE(SMALL AREA ZINC STICK FOR / “,‘:’l K\ /\ \ o
OF CLUTCH PISTON) OF CLUTCH PISTON) CORROSION PREVENTION 352 5 ZINC STICK FOR 10 /' ~ Fo —
EMERGENCY BOLT(R1/2 PLUG) M14x1.5 PLUG(ISO—6149 TH'D) M14x1.5 PLUG(ISO—6149 TH'D) : CORROSION PREVENTION 3g hd \// hd l(:l —
(PRIMARY SHAFT CLUTCH) ,\ S| 13
n
OIL FILTER 36‘2\ 602.6
DISTANCE REQUIRED TO
CLOGGING INDICATOR DISTANCE REQUIRED TO REMOVE HEAT EXCHANGER
(FILTER DIFFERENTIAL 299 REMOVE OIL LEVEL GAUGE TO BE USED FOR LIFTING DETAIL OF PTO MOUNT
PRESSURE SWlTCH) / MARINE GEAR ONLY (SAE J744 SIZE ”C”)
OLL DRAN PLUG FOR | 240 247 S DISTANCE REQUIRED TO — OlL LEVEL GAUGE 117 THRU e (SCALE 1: 4)
OIL FILTER(R1/2 0 REMOVE OIL FILTER OVERALL LENGTH 560 ’ —9
TIGHTENING TORQUE 69 N.m \ 24_ 643.2 ( ) FR%%ABSPE(SEIETE?S I%'EEP 11.25- EQ.SPACED
/’S PLAIN WASHERS HAVE TO
) C1 EQ.SPACED BE PROVIDED
COOLING WATER INLET 168 <
OUTLET TO REVERSE o AND OUTLET FLANGE
CLUTCH OIL PRESSURE _ \| ~ A 62
(SMALL AREA OF R A < | o 2—g12
CLUTCH PISTON) = OUTLET CENTER OF GRAVITY @ o n 75
M14x15 PLUG _ 1o I 3l 5
(1S0-6149 THD)  [§| 4 ol
T INLET =— <| w )
x| N : O NN < % THICKNESS 12
o o ol N N of o < A
< ° 4 . N = C y 3 5 Q 2612 MATERIAL _JIS—SS400
X— t ] ‘°I " (o 5y o 8 Wl Wl E OIL DRAIN FLANGE
o A ) N q NES S (SCALE 1: 4)
o 3 o | o N 4232 1] [ 0| @
. OIL DRAIN PLUG FOR O\é 13 2l B
g : HEAT EXCHANGER(R3/8) . 9 10 [
N TIGHTENING TORQUE 49 N.m 5 o~ y
Y4 o) o I~ o | 85
EMERGENCY BOLT(R1/2 PLUG) \ i S — L O——© AN
(SECONDARY SHAFT CLUTCH) W <+| 0 ¢ \ LOM 4= v T—_ VL3411S
N ¥y
/ | _— \ =
VAN FUME STRANER 7% X 19040.020 N\25 > THICKNESS 12
[ / \ > ' (REAM.) MATERIAL  JIS—CAC403
Y C, S 19 COOLING WATER INLET AND QUTLET FLANGE
; 0 il tl \ / 15_|JL5 o1 (SCALE 1: 4)
CENTER OF GRAVITY / \TRAILING PUMP STRAINER 2-20 REAM 20 DEEP | 1 15.7
/ 50 (BOTH SIDES) 95 | _95 | _120_ g
/ g
OUTPUT SHAFT DIRECTION 130 _|_ 130 _| TRAILING PUMP 19.4 380 - 5 g ?O‘.’ e M E TF\) | C
OF ROTATION IN FORWARD 155 155 , 527 \ s 8| K| ®
Jy 6-M20x2.5 TH'D.45 DEEP(BOTH SIDES) / MOUNT THE UNIT ON A COMMON BASE WITH ENGINE S -
SENSOR OF OUTPUT SPEED /[ 226.7 | THREAD ENGAGEMENT LENGTH 40 MIN. _78_|_ 607.5 _|_126 _|  AFTER LOCATING BRACKETS WITH PINS THIRD ANGLE
40 240 USE ALL 12 HOLES \ = PROJECTION
OIL DRAIN FLANGE /~ GREASE DRAIN PLUG FOR MOUNT UNIT DISTANCE REQUIRED TO o RO.4 —
340 340 REMOVE STRAINER 14—020.20 EQ.SPACED,
GREASE NIPPLE
TIGHTENING TORQUE 49 N.m OIL DRAIN FLANGE MATERIAL MASS w2 UNLESS OTHERWISE SPECIFIED DATE
NOTICE! THIS PRINT CONTAINS
PROPRIETARY INFORMATION AND IS \ DIMENSIONS ARE mm 141223
LUNLUL HULLLU DNE% IL%»?.FAES%O[)%&EAR‘%',ARAE%[\:‘EROF - XXXX kg N-m M?((':HlNED DlME"i:Scl)(')gg SCALE 1 6 mq@ A@p@
X. X +0.25 : RACINE, W1 53403 — USA
LUULUN UULULU ||'|EAT TREAT lFleT USE . .
TWIN DISC, INCORPORATED " o ALL ANGULAR TOLERANGES 210 [PV
RACINE, WI 53403 — USA ) GEOMETRIC TOLERANCING H.lshii
: - MGX—6620A
AULULL UULULL THlS NOT'CE |s NOT |NTENDED SURFACE TREATMENT I:iﬁEL PER ANSI Y14.5M 1982 CHK.
S S SR e T =
LUUNUU HUuuuu . . APPD'
Rev | BY APPD. Rev | zone | cH. No. DATE Rev | zone | cH. NO. DATE OR OTHERS BY CONTRACT. G E N E R A I— \/l E W A.Kawakam{ SHEET 1 OF 1 REV ___
F E D C B | A

AlT




